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Physics 12 Unit 1 Worksheet #3
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1. A bird flies 26 m North1 then 73 m West. Find the resultant displacement
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2. A Plane travels 133 km North, than{50 km 30 degrees East of South} Find the
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3. Achild walks 25 m 50 degrees N of Wand then— 38 m South] Find the resultant
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Kinematics C1 Relative Velocity

4. A bird flies at 12 m/s directly North relative to the ground but a wind is blowing
from the East. The birds resultant direction is 15 degrees W of N. What is the wind

speed? o
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5. A boat is pointed 15 degrees up stream. The current of the river is 6 m/s. What
does the velocity of the boat relative to the water need to be so that the boat travels
directly across the river and does not drift down stream at all?
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6. A car travels at 55 km/hr for@0 ming and then travels 60 km in Find the

average velocity for the whole frip. Ld - 4 = 57x O.LE'M = 36.663. Hm
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7. A car is travelling at 120 km/hr and want to speed up to 135 km/hr. How much
distance does it need if it can accelerate at 1.3 m/s*? 3 '
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8. A bullet is fired at 140 m/s straight off a cliff, we will assume infinite height. At what
time is the velocity of the bullet 148 m/s?
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9. A bullet is fired at 280 m/s at an angle of 35 degrees above the horizon. Find the
range and max height of the bullet.
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10. A car traveling at 18 m/s can accelerate at 2.4 m/s® and wantf to pass a truck

travelling at 17 m/s. If an on coming car is 350 m away and travelling at
should the drive pass? 30,55
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11. a) Draw a d vs t graph for a car that accelerates up to its top speed and then stays
at that speed.
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b) Draw a v vs t graph for the same car.
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